SAMPLE TEMPLATE FOR DISCUSSIONS WITH FAMILIES

Schools are encouraged to share student work with families on Common Core-aligned
performance tasks. There are many different ways to have these conversations with families.
Here is an example of a template attached to a student response on the Droid vs. iPhone
assignment from the Grade 8 Math Task Bundle. For additional resources, visit
http://schools.nyc.qov/Academics/CommonCorelibrary/Toolkit/Support/default.htm.

Teacher:

Grade/Class:

Date:

PERFORMANCE TASK: DROID VS. IPHONE

Jumel and Ashley have two of the most popular phones on the market, a Droid and an iPhone. Jumel’s
monthly cell phone plan is shown below, where ¢ stands for the cost in dollars, and t stands for the
number of texts sent each month.

Jumel: ¢ =60 + 0.05t
Ashley’s plan costs $.35 per text, in addition to a monthly fee of $45.

a. Whose plan, Jumel’s or Ashley’s, costs less if each of them sends 30 texts in a month? Explain
how you determined your answer.

b. How much will Ashley’s plan cost for the same number of texts as when Jumel’s costs $75.00?

c. Explainin writing how you know if there is a number of texts for which both plans cost the same
amount.

KEY CRITERIA

This assignment is part of a set of tasks that ask students to demonstrate and effectively communicate
their mathematical understanding of ratios and proportional relationships.

The reasoning used to solve the parts of the problem may include:
a) Evaluating expressions to answer part a.
b) Expressing Ashley’s plan in equation form, and using equations to answer some or all of the
three parts.
c) Setting up tables and expanding to answer some or all of the three parts.
d) Graphing both plans on the same set of axes to answer some or all of the three parts.
e) Using slope and intercept explanations, possibly with a sketch, to answer part c.

e Drepaiveeat of
Eshucation

- Bueda £ kot ol 1



ATTACHED EXEMPLARY STUDENT RESPONSE (LEVEL 3)
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ATTACHED STUDENT RESPONSE (LEVEL 2)
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